SITE FURNISHINGS

MODEL 1113-04 4 FT. 3"x4" RCP PLANK BENCH W/ BACK
MODEL 1113-06 6 FT. 3"x4" RCP PLANK BENCH W/ BACK
MODEL 1113-08 8 FT. 3"x4" RCP PLANK BENCH W/ BACK

SPECIFICATIONS:

1. LEG FRAME: 2-3/8" O.D. Galv. Steel Post welded to 4" Formed Steel
Flat Bar.

2. PLANKS: Recycled 3" x 4" HDPE plastic. (Actual 2-1/2" x 3-1/2")

3. HARDWARE: All hardware is stainless steel.
FOR POWDER COAT COLORS AND
RECYCLED PLASTIC COLORS SEE
4. FINISH: All welds are ground smooth. BACK-INSIDE COVER OF
PATTERSON-WILLIAMS CATALOG

- 72u - — 24ﬁ" ’<7

= 54" -

4 FT. BENCH ONLY HAVE 2 LEGFRAMES
(Note: Bench must be anchored. Anchoring hardware not included.)

eien = T MOUNTING OPTIONS

Grade-\ 18"
\ WL DC1
2" Turf/Soil —/ L 1 H 6 Dia. U% @l
above footing |  L_| ¥ | | Plate
T e | Q;_ \'\—Hardware '\L// =)
15" — not included
M1 M3 1 piece 2 piece
Permanent Round Surface Optional Designer Plate
Mount Mount Cover for M1 OR M3
Date: 11/17/15  SPECIFICATION / INSTALLATION INSTRUCTIONS
Rev: 10/18/18 3"x 4" RECYCLED PLASTIC

BENCH WITH BACK

1113

Drawn: MT

MODEL NO.
ATHLETIC MFG. CO.

Sheet: 10f2



SITE FURNISHINGS

INSTALLATION INSTRUCTIONS:

1. To install planks to the frame, center the plank across the frames then center the plank
over the slots in the 4 inch formed strap. Screw the 1/4 inch lag screw into the plank
through the frame.

2. Insert the 3/8" spacers provided, between the planks, to insure even spacing.

3. Install the self tapping screws through the frame into the planks (Some adjustment
may be required).

4. Repeat steps (2 & 3) for backrest planks.

4FT|6 FT|8FT
ITEM| MATERIAL LIST: QTY|QTY|QTY
1 |PLANKS (4 FT, 6 FT, OR 8 FT) 5|5 1|5
2 |BULLNOSE PLANKS 2 2 2
3 LEG FRAMES 2 3|3
4 1/4" x 2" Stainless Lag Screw 14 | 21 | 21
5 1/4" Neoprene Zinc Washer 14 | 21 | 21
6 3/8" RCP Spacers 3 31| 3

Date: 11/17/15 SPECIFICATION / INSTALLATION INSTRUCTIONS

: 3"x 4" RECYCLED PLASTIC
Rev: 10/18/18 BENCH WITH BACK
Drawn: MT

1113

MODEL NO.
ATHLETIC MFG. CO.

Sheet: 20f 2





